RESOLUTION OF THE TOHONO O'ODHAM LEGISLATIVE COUNCIL

(Enrollment - September)

RESOLUTION NO. <u>04-438</u>

1	WHEREAS,	the Tohono O	odham Council has reviewed the recommendations of the						
2		Enrollment Committee in accordance with Section I of Article VIII of the							
3		Enrollment Ordinance, Ordinance No. 05-81, and has made a final determination							
4		that the application of the following applicant for membership in the Tohono							
5		O'odham Nation be approved:							
6		ARTICLE II - MEMBERSHIP							
7		SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS							
8									
9		3844-B-02	· · · · · · · · · · · · · · · · · · ·						
10 11		3942-B-04	·						
12		3972-B-04 3974-B-04							
13		3975-B-04	· ·						
14		3976-B-04							
15		3977-B-04							
16		3978-B-04	-						
17		3980-B-04	· ·						
18		3981-B-04	· · · · · · · · · · · · · · · · · · ·						
19		3982-B-04	·						
20		3983-B-04	1						
21		3984-B-04	RAMON, Annrie J.						
22									
23		3217-CK-04	CHUIGO, Michael-Anthony						
24		3218-CK-04	GONZALEZ, Raul S. III						
25		3220-CK-04	JOHNSON, Chelsea H. R.						
26		3221-CK-04							
27		3222-CK-04	, -						
28		3225-CK-04	· · · · · · · · · · · · · · · · · · ·						
29		3226-CK-04							
30		3227-CK-04	SANDERS, Zanaya S. SMITH, Draven ASHLEY, Michael T. ENOS, Jesmine C. MATTIAS, Jaeda M. GUTIERREZ, Destiny G. GUTIERREZ, Natalie G. BENSON, Kota O. MASON-TARPLEY, DeArtis P. VENTURA, David Z. JUAN, Jasmine D. RAMON, Annrie J. CHUIGO, Michael-Anthony GONZALEZ, Raul S. III JOHNSON, Chelsea H. R. JOHNSON, Harmony G. SIXKILLER, Isaiah J. GARCIA, Kaya Jae JOHNSON, Logan Edward JUAN, Lance Joshua LATRAY, Asha S. KINSLEY, Jasper A., III RAMON, Aaliyah Angelina MONTEZ, Annabell K. FELIX-PHANTHAVONG, Jayvohn RIOS, Darian Emma MANUEL, Manuelito JOSE, Leilani Sariah JERICHO, Alina D. JERICHO, Kenneth W., Jr. JERICHO, Kenneth W., Jr.						
31									
32		3661-GA-04	'						
33		3678-GA-04							
34		3680-GA-04	, , , , , , , , , , , , , , , , , , , ,						
35		3681-GA-04	MUNIEZ, Annaden K.						
36 37		2368-SX-04	EELIY_DHANTHAVONG Iavvohn						
38		2369-SX-04							
39		2371-SX-04	· · · · · · · · · · · · · · · · · · ·						
40		2371-5X-04 2372-SX-04	· · · · · · · · · · · · · · · · · · ·						
41		2373-SX-04							
42	1	2374-SX-04							
43		2375-SX-04							
44		2376-SX-04							
45									
46		1880-ST-04	ESPUMA, Harmony U.						
47		1881-ST-04	RAMON, Aray L.						
48									
49		4539-S-00	CONDE, Michelle R.						
50		4717-S-01	PEDRO, Amira R.						
51		5073-S-04	MARTINEZ, Josiah T.						
	1								

	RESOLUTION NO. <u>04-438</u> (Enrollment - September) Page 2 of 3
1 2 3 4	ARTICLE II - MEMBERSHIP SECTION 1(b) ALL CHILDREN BORN TO RESIDENT MEMBERS
5 6 7	2309-SO-02 FRANK, Nehemiah 2360-SO-03 OCHOA, Shawntinice M.
8 9	2382-SO-04 DURAN, Alonzo Jesus 2383-SO-04 MARTINEZ, Dayshaun T. 2406-SO-04 GALVAN, Nicholas Paul
10 11	2407-SO-04 CAMPBELL, Asia Eliana
12	NOW, THEREFORE, BE IT RESOLVED that it is hereby determined that the above named applicant
13	is eligible for enrollment as a member of the Tohono O'odham Nation under
14	Section 1(a) or (b) of Article II of the Constitution of the Tohono O'odham Nation,
15	and that their application is approved, as herein above indicated.
16 17	BE IT FURTHER RESOLVED that the Chairman and other appropriate officers of the Tohono O'odham Nation reduce this final determination in writing regarding each of the
18	foregoing applications for enrollment in accordance with Section 1(a) of Article
19	XIII of the Enrollment Ordinance; give notice of this Council's determination in
20	accordance with Section 2 of Article XIII of the Enrollment Ordinance; and place
21	the names of each applicant upon the membership roll of the Tohono O'odham
22	Nation in accordance with Sections 2 and 3 of Article X of the Enrollment
23	Ordinance.
24 25 26 27 28 29 30 31 32	The foregoing Resolution was passed by the Tohono O'Odham Legislative Council on the 13th. Day of SEPTEMBER 2004 at a meeting at which a quorum was present with a vote of 2,463.4 FOR; 166.3 AGAINST; -0- NOT VOTING; and [04] ABSENT, pursuant to the powers vested in the Council by Section 1 of Article II and Section 1(h) of Article VI of the Constitution of the Tohono O'Odham Nation, adopted by the Tohono O'Odham Nation on January 18, 1986; and approved by the Acting Deputy Assistant Secretary - Indian Affairs (Operations) on March 6, 1986, pursuant to Section 16 of the Act of June 18, 1934 (48 Stat. 984).
33 34 35 36 37 38	day of, 2004
39 40 41	ATTEST:
42 43 44	Rosita N. Ruiz, Legislative Secretary

	RESOLUTION NO. <u>04-438</u>
	(Enrollment - September)
	Page 3 of 3
1	Said Resolution was submitted for approval to the office of the Chairman of the Tohono
2	O'Odham Nation on the Ve day of Seffember, 2004 at 5:00 o'clock, f .M.
3	pursuant to the provisions of Section 5 of Article VII of the Constitution and will become effective
4	upon his approval or upon his failure to either approve or disapprove it within 48 hours o
5	submittal.
6	
7	TOHONO Q'ODHAM LEGISLATIVE COUNCIL
8	
9	
10	Isidro Lopez, Legislative Chairman
11 12	
13	
14	[APPROVED on the 17th day of September, 2004
15	
	[] DISAPPROVED on the Missing of September, 2004 [] DISAPPROVED at 4:50 o'clock, M.
17	
18	Winian han Saunders
19	
20	VIVIAN JUAN-SAUNDERS, CHAIRWOMAN
21	TOHONO O'ODHAM NATION
22 23	
24	
25	
	Returned to the Legislative Secretary on the day of
27	
28	destamber , 2004, at 5'02 o'clock, P.M.
29	}
30	4R - R '
31	foote Luc
32	Rosita N. Ruiz, Legislative Secretary
33 34	
35	
36	
37	
38	
39	
40	
41	
42	
43	
44 45	
45	

ACTION: ENROLLMENT - SEPTEMBER

MOVED: COUNCILMAN VERLON JOSE SECOND: COUNCILWOMAN FRANCES CONDE

DATE: SEPTEMBER 13, 2004

DISTRICT	LEGISLATIVE REPRESENTATIVES	# OF VOTES	FOR	AGAINST	NOT VOTING	ABSENT
SIF OIDAK 192.6	I. ISIDRO LOPEZ (Nicholas Jose) DARLENE ANDREW (Rita Martinez)	96.30 96.30	X X			X
SELLS 465.6	1. DENNIS E. JOSE	232.80	X			
	2. EVELYN JUAN ()	232.80	X			
SCHUK TOAK 176.1	1. FRANCES B. CONDE	88.05	x			
	2. PHYLLIS JUAN	88.05	X			
SAN XAVIER	FELICIA NUÑEZ (Olivia Liston-Villegas)	107.70	x			
215.4	2. DENNIS RAMON (Eleanor Hunter)	107.70	X			X
SAN LUCY	1. JOHN W. LAWSON, SR.	83.15		x		
166.3	2. GLORIA RAMIREZ	83.15		X		
PISINEMO	1. BARBARA SALVICIO	87.70	X			
175.4	2. PATRICIA CRUZ	87.70	X			
HICKIWAN	1. DELMA GARCIA (Mary E. Sam)	85.15	X			
170.3	2. SANDRA ORTEGA	85.15	X			
GU VO	1. RAYMOND VICTOR	95.70	X			
191.4	2. MICHAEL FLORES (Willard Manuel)	95.70	X			Х
GU ACHI	1. TIMOTHY L. JOAQUIN (Jonas Robles)	126.80	X			
253.6	JEROME JOAQUIN (Roberta Picard)	126.80	X			
CHUKUT KUK	1. KENNETH WILLIAMS (Juanita Homer)	129.45	X			Х
258.9	2. VERLON M. JOSE (David Garcia)	129.45	X			
BABOQUIVARI	FRANCES MIGUEL (Lucilda Norris-Valenzula)	182.05	X			
364.1	2. FRANCES G. ANTONE	182. 05	X			
TOTAL		2,629.7	2,463.4	166.3	-0-	[04]